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Total questions : 80 Total marks : 80

1) Choose the pair of words that expresses a relationship similar to that of
the given pair:
WORDS : WRITER
1)
Laws : Policeman

v 2)
Butcher : baker

3)
Chalk : black board

4)
Joy : emotion

AT = writer - (EUF) IS IR words (%) fa 132 Baker (F a8GIRI) IS IR
butter (8124) fa|

2) Q3T ARGPR TR s RBIEH MBS 197 CFAT @R ISIDR 2 A/ 3972

1)
98 fAoH

v 2)
96 Ao

3)
94 o

4)
92 fAoH

T : 4R,

WROIRPR 9RR [BK x Ao
" 2x "

I, 2x2 = 512



= > x2 = 256

~x =16 = RBW

~2X = 32 = tns
OIROUHAR ARSI = 2(Cf + 2%)
=2 (32 + 16)

= 96 TR

3) ¥ \3 Y QI I ITX O @ FCT A | P 9T PTAL 20 T PACO 21K | A 9T FTHIL
POME FACO IMRR?

1)
¢ frE

v 2)
vo g

3)
NG

4)
go facd

MY ;Y PTSID PACO AR
= (0%5%)/(20-5%) facd
=380/ T

=vo g

4) Government has been entrusted __ elected politicians.
1)
with

2)
for

v 3)
to

4)
at



AT : Entrusted with = @4 BT @1a g 7RIS 29| Entrusted to = @1d G
Iie< g om1a |

5) 50 FAT TR 05K T Yo T TG SR 7572

1)
qo

2)
bo

3)
»0

v 4)

>00

T : 70 T SR 05K T S A TG SR = [(DpD+3)/R] = Y00 |

6) P ST I Y 4 Q5T AT QSRP 40 | LA PG?

1)
4

2)

3)
8

v 4)



7) a3TT F AR RoaSR Y ST Q15T P w0 T | A FO?

1)
30

2)
NC

3)
38

v 4)
b

AT : TP, FLAMD X A7 FY o7 B Td Vx 3L ST Fd 3x A7 FCY Q5T PAE 90
PITCD, OX + IX = »O

AT, X = »O

a1, X = »o/k

WAAT, X = db

8) IR TIOR ISP feS3AR 72
v 1)
JTHPE I

2)
TR A

3)
FOTH AT

4)
UREEESIG]



AT 1 AR SO ST FESBAR FTHFE AT | IIRFTOT TR FGTPT SIS
TIRIGCHCAR TS A1 IS | TS I8 ARFAHCR TS 2APG \3 TRFCAR 21, JOG A JR
SRRTETT 51T, FET0T Joa ATHCTIPRICR I0FK AP | IRFAHCR SO 2GR 93 woAfD
YR HCER Y TR FRPIRNOIE 520 2| AR FA N FEIA ITNA KPR FRARTIT
MO FESI3d PO MO HI A aft I e FoRR J191, 18, \3 BRI ATAT TTo Q3o

ARSI THCS I AT PTIFS IASAP | PTEPE A AT A TG 702 TGHIA 1A
GIORT AOTP

9) AP AT ROFSCR Y ST QST P o | AN 35?2

1)
16

2)
17

v 3)
18

4)
24

II0T -

qd IR, 5720 = F|

2PIRCO,

VT + 3P = »O
= ¢P =90
P =0

10) 1AL AT 1T G512

1)
fp

2)
AT

3)
iV

v 4)



QS

AT = WP ATTD 18T Sorsyst 27 wrey | afb faors A1 5o ol I T | S BoSs! 51i3w
1T X - TG AT, TG, TSP ZOIH |

WP, TS (RO X0 SRR Bostsf - ATSTERT, ATSRAR, ATSTeRe, U | 76 (2fs) 2o
PRI Gorstsf| - Q@T, - 579, 76 321, 7 297

11) oro1 ReaRmrery 3 2o =02
1)
NP

2)
Y®VY

v 3)
Y

4)
NENG

T : OIRT RPIRIITET YRd ST arfoido = |

Y90 FAE TRON RYTATGR 51210 RPIRMITETT I12d 367 Ynd @ > TR MR RegfRkmyer
21 et ReIRMITeTci SRS ©F 2| DIPK I8d1 USRI A1 woo Q31 &y fae a3
RryRmer afowT &re 3@ |

12) 18 F&ER 2919 AR oo g1 fBerd?

1)
SYOF

2)
So T

v 3)
d»0d

00y



TN : (. FGER 21 IRECR S0 A1goifs fared|

TG I (T : » TTB, Y - FOF : 0 TIB, 2050) IRATCTH FNIP g5 \3 RSP
TSR AN RIER ITSATORT | Y9 FER IR ST AT (A F I Q TR GOH
SRPUID ANHTA TSI GIPT ATed PR | Fofd Frogra iary QX SRT FRA | 2000
HICER 3, PR AT RERRS T QT 3767 WAd I IRFATOR d»od 86 A
TSI X194 AP AT A |

13) {31 a1a Fhw @ SrREw?
1)
ARG

2)
SN

3)
SRR

v 4)

T ; farfeb STt SRfBO |
TG 3RS ATSHTA! TG TRIEG | U3 AR B[ e §61 547 @1 Ao s IR | Q4
QR BTGTE ST 51T PR Fd FH QRIBO |

14) TIRT XTI 24T J& FI70) (T ?
1)
I T

v 2)
ATACIST (Pl

3)
WIS Fiee

4)
TG JIGAT

AT 2 TTRPT XA AT FIA B9 AT15] 557 |
AR a1 (el ANSIFRAM) DIPIR AR - P51 IG5 dIk B R0 APTD SIS
qae 51| aftx faefoerey ©F TR Yvab S, Ja TRMK FITW ATSE <2 303, R fererd



S0 WSS 2@ 178 PRTOICD e F16 22 A | O BGI5RI, FIT SR
XIS AT Ybro FE [THTPTS SRR &F I, g T A |

15) 'BARD' IeY0 ¢ q@m?

1)
Bangladesh Advancement for Rural Development

v 2)
Bangladesh Academy for Rural Development

3)
Better Association for Rural Development

4)
Bangladesh Association for Rural Development

4T : BARD 309 Bangladesh Academy for Rural Development (@ QM|

BARD 41 <@l Bangladesh Academy for Rural Development. I1R&T <& Sad
UITGH FIAR SKIW, 2/ ST \3 SN FIMARI TGN <& ST Rgwe 3 Aenizie
ST 2fowTd | aft ToR 2 ATd PR @10 IO Snes S 2 oD PR

16) TSNP Ao IS TN 3T 2T -

1)
3000 IS

2)
YDA S

3)
Yo ST

v 4)
S AT

AT : ABGGP FOONRT IS QR FAT W ddwn FE |

Yond RIEER Y4 T TGP0 BSEE R RS WP AR AT BT 2 \3 00 Sbbio
P ST AT IPCT PP TGP FowT 51 oI (R BT 2 43R 3000
I D PFAMR P IS SIROFNER SHHCPTHAFR AT TR N0 0% |




17) METTCR FHTOR ARG I 5]5 O R?

1)
5aq Qf$e, Y5ad

v 2)
yo «fere, d»ay

3)
qQ 5, YA

4)
U FTE, YHAd

AT : IRSATCCR FTOR @I FR RO 2 HQ QT 459 |
AREATCCR FATOR @ENIG 20 2 59D FER Y Ufed | TR NRTOR @R SR BT
20 Yo QfSe Y5ad |

18) 'GIS' #f@sr [p?

1)
Geographic Information Service

v 2)
Geographic Information System

3)
Global Information Service

4)
Global Information System

AT : GIS A “[@ ZT . Geographic Information System.

(SIsTeTP T 73T - ] (3ARK : Geographic Information System) S ke G
(OISTINRE BOMG ST, FIF, REITT 3 TorErord 31 | U7 3@RG 2t 21 fasnfee
3pAce[ PIC0 (Geographic Information System) A% UG SREFCS & AR 0 (GIS)
I 0 | TG @B O3 267 GONRTIE - 97 JIBT JI6T TR |

YR TSI (OUSTITP SR R3S, SRIFC, 5o, R, ITF \3 2T IRTO B I-F
AT Q3 ATSIND XAV 2PFPT FAT AS M |



19) IR \3 BIRCOK JHT ORIBO (HIb [2DHER ST $9?
v11)
NN

2)
ML

3)
e fo

4)
Sooft

AT : RO \3 IRAHCR T TRIFSG IS Roae JAT dwr )
TR \3 1R JET 7 ST BT 5T f2e1 | [Py 205¢ R > AT (05 Gefi’ FRIO)
&5 = fRifve a1 Reje =

20) HIJE T AT FACO AT 11 97 S ARG TR @2
1)
Nobody can live alone

v 2)
No man can live alone

3)
None can live alone

4)
No one can live alone.

AT 2 (T TG QT AT IRACO AT q1? O L[S0 ARM L - No man can live
alone.

21) AR S A7 PPN AP AT -
1)
AOTT

2)
IGRGE



v 3)

4)

AT+ " AT FHROFH A - - T |
AT PAT AIPT . WFT T = T, W THTHE = AR, W WMo = G |
A TARCTF X QY T - SFFATO X[ 5 (@I 9PF3 51277 a1 1 (fA-eors [6W) |

22) 'ql (T SO 0 ?

v 1)
QIR

2)
&

3)
fRemma

4)
R

YT < AT ARIR SR XK |

@ 2 SR WAARIGAR (AP PUET PR CTMORLT IR AT QI AR IR T IR
SRS 1 RCTT5T STLAT IO B ORI 91 0 | I1RSAT SR fod 2P SRR ¥R 02 | T8 d
1T TR ¥R, G QRRI <19 13 RO SRR *7 | J1EAT ORI SIOR X9 Il - a1, O,
TR, \3, 2 3oTR |

23) "SI < RO Q@TAiD?

1)
ST

2)
1

v 3)
ST

4)



<

AN

AT 2 "SI TR [Remaft 200z ST
1T TP FCO- Y IR0 & AP W RET, s1qra 3 fraremes [Rieaf¥o 3@, ores
e/ I |

24) "o APPT AT P (P IbdT dIF?

1)
G, YT <R

2)
G, W% <KIP

3)
. SR G

v 4)
G, SJAOPHR HCTILITT

I 2 7SI AP IRSAT AMFAT” FANGP AR ST A5 FEA |

SAMOPHR BCETIKIR (STH : JYCT TG, dbwo— T : 10T (F, d»Aq) IPGd IN8T
ORGP G0, SRR \3 RAFTRm |

TTRE SRIFRSTEATR I WIS TR IR | AT SRR B AE \3 FHRDPT 5o ©
eR 1 ARRSE 9T (GrET AT TR 77 @S] SBIIS 31T I5d1 IR WHIGRT RG-SR
A5 2MTd IR |

O IEARI 201 . @] PIADS RO, R0 TP, SRS - T [o(>»88), IMEe
OTO0GA SIPI(d03»), APHCER TN 0b), SBET TH, TG 3% o FRG)(5»0b), TR
O \3 T FE(5288), NFTO BT, T TRO(dDYE), AT FBLH(DDYE), XFTHI(dHYE)

N |

25) ‘T T WRPPT = JIETPP, (I STAT?
1)
=R 7T

2)
TRRITOR a5

v 3)
JHGTRIY T



4)
ERERIN

AT : qIS T AP = AP PR AT |

Q@ SIS RO 1 RO TORTE 2 ST KOS 1 ROTISRTHE 910 ST 2 Q3R 2[R9
TR AR YORATT R, OIP DAY AT I | (TS - AT @ 2 = Ao, <TiS WG 78 =
aRiE, I5T Qb T = FIHTR |

26) AT XTI (%IRRT @I 2

1)
419 + AT

v 2)
AT + a1

3)
NIGESGI

4)
dM+dl

IO + AT - Q3 S RCoaw R+ T

A WK TG WA IS \3 I5&d I IS \3 AR (T (% 27 OIP A& Sk ICe | J&asi
1o YT TR0 SR | AP 1T TG A FoTo TAredd 9 faed 20 AP | QT8 . 4+ T
= T

27) T A% BAIRRAT?
1)
QRJR

v 2)
Rmyrera

3)
7ePpar

4)
fiog



AT : FRTeR TR S|

TR Y TR T A% T OIP A% I |
@ad, 1233 = 3123 + @I,
fRmyreTy = Ry + ey,

2areT = =29 + o,

GIR RIS R R G RN R TeURG el

o

28) Q¥ (21 W (1 fd | 105 '@ @I PR @Td [Ghe?

1)
SIATHICA X}

v 2)
FHPRCP XY

3)
PO X[y

4)
P XAy

AT : 9T (B R R 0T 7@ ¥=i) I FRE ) [ohs |
TP AR IR POT [P T 9 I, TP I PIRP A |

P 5103 B A1 P TR 20 P @ BB AT IR, T - 3 I RSP |
QI . OTSI] OTP | OICP AT IWI

29) APV <AL LTI
1)
(UREGIE|

2)
O&

3)
o

v 4)
O



AT 2 AP XA A - - O |
TR < TFO O (AP @A 21 ARIOT BTGB SIS A1 TR 5210 W(Z, GFR <P
I T O X | (T« AP, 53, 37, FHd, 74, €, T, IF, 52, W™ 30J1H |

30) T /AT PTG BART?
1)
T4-q4
v 2)
AT
3)

©E-

4)

SIREIR

AT+ A - W (ATHD [P G BHIZA |

@1 [P AP 1 AP G0 KPR X P AP GATHP < I | TGN GATHD XTI
13K AN AT 4aTHP [P T | «ara<s Rl KT 75, Tiey 307 @RI | 4ara< R g
JCABTD BHIAN T ; I A, T T, T PR, T T 2001 |

31) 2O (AR (5113) oretd uved e Ja) | afb (@19 4R 1052

v 1)
3R ITPY

2)
QNfs1F I3

3)
foRat A1)

4)
@10 a

AT : RO F2 (3) T2reTd aFed e Jiad” IRPI0 P00 |

@ SIRATB N AR TR @I R TER FATSR FYRC APTRIG 2 BICP I I | ST
e (A 13 5 2P| AT . 3 A5, GvS I1RPY \3 QTSI 103 | (T P API0 HI STy
(T 3 aB T R (Tt faram) AT B SiKe I35 AT | (T IO Jarw g et
PG WP FIH |




32) s’ a3 Ao

v 1)
I E)]

2)
1S
3)

XPTRP

4)
fag

AT ;SR - a7 AR - - @y
UETOI\S 3 >R AT 65 4o ™ 2@ . s, iR, oo, e, o, ke, sk,

©ord, Ricp, ©1g, Rersy 3on |

33) ITS! TORFE SR 2 B AN PIAD?
1)
TORT

2)
v 3)
EIRGEIE]|

4)
AR AT

AT = PTG TORP IHACHI LAYF BT T2 |
R ST ST 207 - I T 539, TOFFHT D900, FEATT 50, GRCAR TR S05.

34) 19 \3 {7 FoX 1 AeT?
v 1)

APRS
2)
o



3)
Rofe

4)

QAN = T \3 {TOR FAP A - - AJ(G |

APTG TG 1B AP | I . a1 2P 3 T el

35) @ J@IATD l- -
1)
R5OPsI

v 2)
foRo=1

3)
OO

4)
SIS

T = ATS WP SR Fe4T o561 x5 I 10 |
NGRS AARGINKIGIE) QSIQ’KICTWWWI

36) AP 1 AT PTG ?

v 1)
T

2)
TOPTd

3)
OGS

4)
Bl

AT+ 270G AP X TS ToRo6T <=fd I1d1d 511 |
L GHEIERMRGIFKIGIE) QSI@K]‘TW@WI




37) "Woeff' IATATY SRR (I AP AIPT?

1)
foamm

2)
FEE |

3)
TS \3 14T

v 4)
Rsved

AT 1 "N IRAAA SRR RSEd AT AP |

AMAAPFI L ADO KIS AP0 UK FLSTA QIR TAT A0P SR JYT Ao | IATAY
L O JIGPA A9 70 5ka 7Y 3 Saiiad Sfaer [kiftey e wifsay a1 Q a6
24Td 51Ra 2T WoAdT, TP, TRABIRZ, SBIRST, (SMRAHATTPY |

38) "IN NP A7F 5[ B RIOT @2
1)
2T BT

v 2)
QAT TP

3)
IFFFOEH HCTINLTT

4)
AT

AT ;TSR AP oE 53K A6 o1 IAEAT I |
O AN IR0 27% 513 2 - RIRY 205907 (20 2PTP19), STOfoR 5RPO, VK@, T 4,
xErog, [RegofkeT, Rrst, ey, sfcew s 3onm|

39) PTATOT ¥ A 5?2

1)
ISR



v 2)
ERISER]

3)
a3t

4)
RIS

AT ;BT PO W fParsyerR |
I Ao XHIOI W T PAR RIS BT | SRR . P HATOAT IGAT AP FAW AR IR 2
o

40) T <10 GeT?
v 1)
ARorg

2)
W&

3)
AT

4)

Sanica

AT = TS TP Rog <D o |
ARG R 7 0 30 - AT | WA RS TR0, PpIF, Wy sksfey 519 |

41) (T GHRAT *prod?
1)
SRVALGS

v 2)
/N8

3)
SR

4)
&/



YT : @/Y = 0.5 0V0V
NHE =0ob

95/58 = 0.9b¢Q [ FEOd |
Y9/ = 0.b0AER

42) 0,5, Q3R O T 5 30 BIR TP IR3YH QIR IO S Ricsree 3672

1)
Wbq

2)
Rb4

v 3)
D9

4)
0584

AT 2 0, Y, X AR O T 5130 BTH WP JTSH FRA 90 |
0, Y, 3 UL 0 T 5110 51K WL FAOH ST S0 |
RIS = VID0-503V =359

43) ¢V TG @1 6 @19 3ET?

1)
STRCPIT
2)
§ CT

3)
FRPCPI

v 4)
ARACIIT

I = A~ (@17 (Reflex angle)
Sbro fEST (WP IT T Q3R Vo s (WP @ Tk @INE o4Ja @19 |
2¢0 B Yo (WP IT Q3R Vo B8N A @b B13 Wb 27 @)



44) T 2HPFT bo% 5TTG IR 0% IR TS I | BT KA #1151 I Wo% | To¥ K
XTGP TG T (P PIT?

1)
%%

v 2)
0%

33%

MY : QAT ST AT PERCR (b0 - Y0)% = 0%
QPH LS AT PRCZ (A0 - Y0)% = 0%

(TG #T = (YO + 0 + 30)% = 0%

T AT @ = (500 - $0)% = 0%

45) A FORCOH IRB 271 A1 \3 AT g (@ITSEAT STAPIT F, O [P ICeA?

1)
WRIC € )

2)
IRl

3)
STHBRP
v 4)
I8/

AT : (T TTOCSH ARSI 2701 AT \3 SR [5g I STHPIT T, B I97 AT |
QPO ARG ARSI 2R 5719 \3 ST [5G @IS TAPIT T, BIP AP
A |

@A TSR ARG RS SRR 51T \3 AT Y @IS FAPIT , BIP WRGCHA 0 |

46) T a3-b3 =513 W a-b = 3 2, T ab I T ITG?
v 1)



AN : M a3-b3 = 513

or, (a-b)3+3ab (a-b) = 513
or, 3% + 9ab = 513

or, 9ab = 486

or,ab =54

47)f5f6r\'3$rr—ra\9. IACK TG 8¢ T2 | WK T91aT, |91 \3 A #[tad IR 5T VY I8 | F(ad
R PO?

v 1)
Sbr I%I

2)
¢ I

3)
8 I23

4)
» Il

T : T9101 \3 JTOT IAGH 516 8¢ T2

foRoT \3 HTOR b IS = 8C X = »O

foraT, §T6T \3 U <@ IAGH 5TG VY JTI
foraT, JTOT \3 P #@d 1D ITH = VYUXVO = Yok
9[(@J I3 = (YOb - »0) = Sb IJ

48) YY.¢ T 5.0% FTG?

v 1)
0.>8¢



2)
R.58¢

3)
0.0>58¢

4)
2.8¢

YT 2 dV.¢ QT >.9%
=dY.¢/ Y00 X>.9
=0.D8¢

49) 10 T&fAsT 2¢ TR Kb T T ¢ % TS LT, fEIASI07 FIeTs Po?
v 1)
0 BT

2)
%q.¢0 BTl

3)
5¢ TP

4)
Str BT

AT : €% AT,
RIS 53¢ TRPT A FAFET So0 TRp
" QG nun ( )OOX{Q)/){Q = {OW

50) Yoo BIRPK Y IRRL ST 5 dbro TIPT A K 7K 2K $0°7?

1)
Y%

2)
R%

3)
50%

v 4)



%

AT = QX1

Yoo TP Y IR 5K 3] = Sbo TIT
YOO " S """ = SbO/Y = VO BIPI

5" """ 2 Vo/MoO BT

500" """ = (VO/WOO)*500 TP

= (VoY ) TP

=& D11

STOTR, I 3 *XTOPLT A = €% (ANS:)

51) WgATO F1?

1)
a0 TP e

v 2)
Q30 AT

3)
NI R ]

4)
A0 (BTG 5T

AT : 1230 FTGTOR IR A0 WHRTHT TR FOBT I TG WL BT QPT0 GATXT T AP
AT I

I3 AT AT 7301 WAt Jce | A1 7375 SISO e QoAItos (T AP (3 |
WIS QBT GARAT |

AR @ b
b+90O =
M +Y=>9
A+ =W



D +W =¢9
Q\D+8b’=)0)
R Jd P IR, YR Q15T RAZ

53) 7315 TR TGO © . 8 T2 BIOR &, 3. @ dbro | 547 7% 75 52

1)
Yo, @O

2)
¢o, 80

v 3)
8¢, vo

4)
qQo, Yo

T+ AJACOS B T =
0*8 =0

AT G (P BAPT 3T OI5T
dbro/3R =3¢

O*HE = 8¢

8*3¢ = Yo

8¢, Y0

54) T TIREFI TP AR \3 IER WGITS ¢
TTIT ORI PEA?

1)

20,00%

2)

20,090

3)

20,000

v 4)
3&,000

.0 I TR TR <67 S0, 000 BT I fofd T0



SRR

O = &X

IR = VX

XNIHCD, €X - VX = DO, 000

=>3X = DO, 000

J. X = o000

IR AR = ¢ x @000 [x I] FId W]
= 3¢000 TTIT

55) a+b = 8 UdRab = 15 X+, a3 + b3 I FJ P9?

1)
145

v 2)
152

IIT -

a3+ b3

= (a+b)3 - 3ab (a+b)
= 83-3.15.8

= 8 (64-45)

= 8.19

=152

56) (0.8 x 0.0¢ x 0.0)/0.05 = ?
v 1)

0.08

2)

0.008

3)
0.8



4)
I3

A 2 (0.8 * 0,0¢ * 0,0)/0.0)

= {(8/50)*(&/>00)*(:/500)} / (3/500)
= (R/@)*(5R0)*(>/&0)*>00
=00/¢000

=dR¢

= 0.08

CICE 0.08

57) Choose the correct narration of 'Do the work'-

v 1)
He asked to do the work.

2)
He requested doing the work

3)
He told doing the work.

4)
He said that do the work

14T = the correct narration - Who told "Do the Work". is - He asked to do the
work.

Imperative sentence - < indirect <K &qj subject + order/ say/ ask + to +

important sentence W3 & WXT| Q AT, He asked to do the work 3| Sy
ACIN3J sentence 41 'who' QI 3 'he' X[ |

58) Which one is correct spelling?

1)
Bouquete

2)
Bouquette

v 3)
Bouquet



4)
Boquet

Y : ACITE W B T correct spelling X% bouquet|

bouquet I WY PEH (IO, P5JAIITP, TX, P (ONGT, (ONGT, @ICAT ROT SHK
SKfG|

59) | decided to go....... with my friend as | needed some exercise.

1)
for walking

2)
Walk

3)
to walk

v 4)
for a walk

T : | decided to go - - - with my friend as | needed some exercise. a7G
AP WYIAE for a walk IGT|
'210c0 I3 WY 'go for a walk' phrase 0 I7@o 21|

60)
Which of the following sentence is correct?

1)
The shirt that he bought is blue in colour.

2)
The shirt which he bought is blue in colour.

3)
That shirt he bought is blue in colour

v 4)
a+ b both

A : The correct sentence is - The shirt that he bought is blue in colour; The
shirt which he bought is blue in colour.



Option SR T a W3R b 70 3| FRG Shirt - U7 W relative pronoun 23 that
\3 which i 55|

61) Choose the correct spelling.

1)
Burreaucrat

v 2)
Bureaucrate

3)
Buracrat

4)
Buraeucret

AT 1 MG X¥7 SR F&F Bureaucrat I@@E0 ©F |
Bureaucrat Xiod WY . AEeT, WHeT, WIHATOI]TRI, WHATORR! IF, Fao1ad ST |

62) He took me there. (Passive)

1)
| was to be taken there by him

v 2)
| was taken there by him

3)
| should be taken there by him

4)
He was trying to take me there

T : "He took me there." The passive voice is - - - - | was taken there by
him.

Active voice (& passive IC0 X object & subject + tense TR be verb I
+ ¥ verb 49 past participle + by/with/at... + subject Q< object |

63) The word 'Indigenous' is meaning of-

1)
Remote



2)
Foreign

v 3)
Native

4)
Local

4 : The word "Indigenous" is meaning of - - - Native.

Indigenous <03 Qi . (P, CPI, P, FCPTSTO, GRS, (e, X, Sieers |

Native <=0 A . BIARI, TS (TP, BRI, APRo5TO, SrHSTD, WK, D5S] ST
(T, FTAN, 2PTow, aPpfoars, AT, TR, (TS, SReTo, ATeIie, [Myad, i,
T CCR AT BICER (TP, BT ST |

64)
Choose the correct form (passive) of- ‘Who will do the work?’

1)
Who will be done the work?

2)
Who will done the work?

v 3)
By whom will the work be done?

4)
Whom will the work be done?

IIT -

Interrogative sentence I who I &= 27 O U passive voice -9 ARIOER
S By whom ey & 3109 20 1<% Shall/will #1fi@f6o 20 Shall be/will be 231

65) The..... board has deleted a number of scene.

1)
Censur

2)
Censer



3)

Censar

v 4)

Censor
T : The - - - - board has deleted a number of scenes. ACITE JCIIT WATIHAIK
Censor Wﬁiappropriate.

Option TR TLT censer - MK ; censar - @1 X a¥ ; censor - NP, *IFT 9%
censur - 3 (PIET I3 (@B |

66) 'Proclaime' means -

1)
Announce

2)
Declare

3)
Pronounce

v 4)
a+ b both

I = "Proclaim” means : declare.
Proclaim >3 o . 2514 41, A6 1, 4510 1, 2719 341, 3B2[ o], SHPD
T3 BT, AR T BAPOIR A6TK P, SHPTRGI TG BT

declare *™ibd QR . (IEN BT, AR T, (¥ BT, TS 1 3031 1o [RigRo o,
@R T4, I8 (AT, 4T

67) Choose the correct sentence.

1)
| forbade him to go

2)
| forbade him from going

3)
| forbade him not to go

v 4)



a+ b both

I : The correct sentence are a and b both.

- | forbade him from going.

It implies that you gave him a directive or instruction not to go.
- | forbade him to go.

It suggests that you specifically forbade him from going somewhere.

68) TTPTI TTPT WII(d | ] 3G QI 16 X172
1)
Money makes money

2)
Money beings money

3)
Money brings money

v 4)
Money begets money.

YT : “TTPRI TIRPT O - [0 Q% 3@ A X% - Money begets money.

69) What is the verb of 'able'?

1)
Ability
2)
Unable

v 3)
Enable

4)
Disable

I : "Able" *=013 verb % Enable.
Able X 94UE 'en’ prefix TE I ©f verb T I AAR enable |
Enable X=T0a WY . 7% 31, 75 31, SIY 3T, O] 1, WGP



70) Of & T4 PAeIvT fSITR? Translate it.

v 1)
Have you ever been to Kuakata?

2)
Have you ever gone to Kuakata?

3)
Did you ever go to Kuakata?

4)
Have you ever gone Kuakata?

AT : B 5 DU FARIOT FITz? @7 3EHNO WM X% - Have you ever been to
Kuakata? '@11\s @ WRK e Qs ol Perfect tense @ 'been' verb b I/@o 311 @

TR (P O R AT FAPIT Fieaemy 3 58 AT % - Have you ever been to
Kuakata?

71) Which one is singular number?

1)
Data

2)
Agenda

v 3)
Index

4)
Criteria

I : Singular number is Index.
Option SR JJ criteria A criterion A< plural; data X¥®™ datum < plural,;

agenda ¥® agendum 49 plural Q38 index X® singular form K plural &
indices.

72) Choose the correct spelling.

1)
Superceed



2)
Superseed

3)
Supercede

v 4)
Supersede

A - the correct spelt word Supersede.

Option TR 4T SIS spelling 52 Supersede IR WY . AfZG 1, AZ0 BT, SR
1T, A2 1 RS AT |

73) 'To raise ones brows' indicates that-

1)
disapproval

2)
indifference

v 3)
Surprise

4)
annoyance

4T : To "raise ones brows" indicates that - - surprise.

T4 TG IR F B IR GRS [T 2<6PT 31 27| 570418 To "raise ones brows" -
surprise @ indicate ¥ |

surprise b3 W . WPHY, WP, [, WPHIIEe 26, 5adem, RPa, Tofics amesa a1
(SISTH, ARPPAP T WALDIPG ToATM P HHP, 206100 A, [RPT AT

74) B3R 3 IRAIA T R FooRP BIP I 3T-

v 1)
SRR

2)
iR

3)



4)
ATBAT TG

TN : 50 TG, PO 2RI 3 UG REE v fa Gikgms 510 | 5t ot afifear
I | AT FRAIA SR TG W R G AT N3P RO I A0 (HRITH <RI
S5O 1 F3ZR BTSSRl (XR BT felagl P |

75) b1 MR PZ QAP TG T

1)
WA

2)
i ‘n

v 3)
ITHSAR ARG

4)
NI GIEAREER

AT = 5% M9 INE AP IO G, O IRV AT IFTGAT ARG

IFISAT ARG PR 517 F5TE PICE. TG G | (@Al Q3 IFIGAR ARGFRCR PIRCA
SRR P #AfRGd I | O T bt IG GUR | WA M@ NN [0, Wood, 7ie [Rad
0T Y AT |

76)
T (71 TP SFToik Tow F?

1)
TR WP

2)
©RO

3)
SRR

v 4)
f3coa



AN : FCOA TS sPoR QB es |

o5 2@ #1510 SPIoAER - IS, PRI, ORI, 51 W3R 7RFT TPIT, AMPHRI T
ATPATPO BRI GO FAAOT AP 6T | FeTo 2050 S 7 AP THGE 2H T
3 576D "R A RS et | Ko Teew sieet 918 Saaie Q[T 3w R, 58 o1
R iRy 202 T Tiafod 2fa IR TP \3 TBEIGF ToARIR B9 BIETST
2GR | A5 123 &K - 20 - 97 T |

77)
OISR Gl PIT?

1)
P

2)
NG

3)
3P

v 4)
farst

AN ; FRIATCSTRICR S f81sT |
RIS 7PAfep \3 S0P XTI FHR0s RS AR 2R ¢q0 W 9 QST 11517 Q191 S SrasRd
I | TG S 1Y O S A | O} 0K a1 foet GHRBTS|

78) TR \3 Bita 18 QUK ard 672

1)
GRS



AT = BRG \3 SIE- HE18 @K T8 FICAIRd 134 |
R TP PHF RO \3 HIa” 704 1270 A AmT 20eT Sypcarzd Sizd | Y58 FIE ]
AN ORI [ORO i TR BRO \3 {6/ 747 Q A 5o awd|

79)
{7 @19 fFPoR 3T AsIiRe?

v 1)
R @3

2)
KMGIGEGIVIE]

3)
fI6TE JTrofeT

4)
ST} PIRCo

AT : FEFCPOR AR TR BRENCSA AT |

AR 20, (T - b F15, Yduby) TR0 JHICS GsRIPI FT - GROR 1emeo [Iams 3
TR RG] WBSGP [FPT GRIT | 3G T A AN0F Ydba (WP 2008 He I
AR PP ARSAIE PR | PN 7o AGARICPANS TIRIY #ATed PECRA fofd | /e
5T FeTos TTaaIfs IMTTHE AR (WEZA | TGN, BTARICS @51 @@ QT AR f&erd
57| FTORT TPt QT e (AEd |

80) PR PIITI (@TIR TREG?
v1)
SPOREAG
2)
3RS
3)
TEAIE

4)
G



AT : TP PR SRR TR0 |
FIFA 13 9|1 251 Federation of international football association. oK = 7ed
1 PRI SPSREACG G TRBG | FEPR T 2 908 S 3> & PR ATSHIAT SR |

TR IGR 2% WK “W/PF1 fd I [fFas et omRsies a3 fics fofss a3 live.hellobcs.com
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